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This is a process of taking an actual situation and modeling it as a graph.

Destinations become vertices. If we can get directly from one vertex to another, then we draw an edge connecting the two vertices.

Notice that the positioning of the vertices DOES NOT have to exactly match the actual destinations. The important thing is the relationship of the edges connecting the vertices.

Note difference between graphs (b) and (c) in Figure 5-15 on page 189.

For the patrol person, there is only one edge between each pair of vertices. This is because each edge only needs to be traveled once to be considered “patrolled”.

For the mail person, there are two edges between each pair of vertices. This is because mail needs to be delivered to both sides of the street, so the mail person must travel twice between each pair of vertices.

The direction does not matter. The reason for the second is to allow for a back and forth capability. In later sections, we will be searching for routes that minimize the amount of traveling. Generally, we do this by traveling an edge only once.

Earlier, it was mentioned that often a route is needed that minimizes cost, distance, or time. Often, the edges of a graph will be labeled with a weight: the cost, the distance, or the time. All possible routes are listed, and the weight for each route tallied. The route with the lowest tally is the one that minimizes cost, distance, or time.


